Chapter 01 A58t 7

[1-1 =23 A3 Zq})

Input the number of values to be added =>
3

10

20

30

Sum = 60

[1-2 =23 M3d Za})

=[0123]
[4 5 6]
(7 89
v =[]
(2]
(311

[1-3 T2 A3 Za)

A=1123]

[4 5 6]

[7 8 9]

= [[1]

(2]

(311
Ashape = (3, 3)
vshape =3B 1

=[123]

wshape = (3)
B= [[123]
[4 5 6]]

B.shape = (2, 3)
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[2-1 =23 A3 Zq}

a =[[0. 0. 0]
[0. 0. 0]]

b =11 1]
[1. 1]
c=1[B3

(3 3]

(3 3]]

d = [[1. 0]
[0. 1]]

[2-2 =237 A3 Za)

- FOfF 2R -

200 200 4.00 | 18.00
1.00 3.00 2.00 | 13.00
300 1.00 3.00 | 14.00

- TER

1.00 033 1.00 | 467
000 267 1.00 | 833
000 133 2.00 | 867

- oy e
1.00 0.00 0.88 | 3.63
000 1.00 0.38 | 3.12
000 0.00 1.50 | 450

-

1.00 0.00 0.00 | 1.00
000 1.00 0.00 | 200
0.00 000 1.00 | 3.00

ot 1.00 2.00 3.00




Chapter 03 si=

A=1123

[4 5 6]

[7 8 9]
B=1[147]

[2 58

[36 9]
C=112

3 4

5 6]
D=1127]
348

[56 9]

gato] g H2
E[03] = 4

E[12] =7

E[02, 2] = [3 7]
E[0:2, 2:4] = [[3 4]
7 8]

E[2, ] =[9 10 11 12]
RECICE
E=[1 2 3 4
[5 6 7 §

[ 910 11 12]]
E[00] = 1

-1 2 3 4]

[5 6 7 §

[ 910 11 12]]
E[00] = -1

SEfo| ZBl0f] Oft W MY

- A-B ---
-1.00 0.00
200 1.00

m A -
300 6.00
900 1200




N VR
20.00
40.00

--- matmul(AB) ---
400 800
10.00 18.00

--- matmul(A Q) ---
1800 2100  24.00
4000 4700  54.00

o AMY -
10.00 20.00
60.00 80.00

--- matrix_power(A, 2) ---
700 10.00
15.00 22.00

--- matrix_power(A, 3) ---
3700 54.00
81.00 118.00

- A*B -—-—-
200 4.00
300 1200

- A/B -
050  1.00
300 133

- A2 == ARA -
100 400
900  16.00

- AT -
100 300
200 400

— T
1000 20,00

- diag(123) = ---

100 000 000
000 200 000
000 000 300

--- block matrix ---

1.00 200 5.00
3.00 400 6.00
700 7.00 8.00
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e A -
1.00 200
300 400

--- linalg.matrix_power(A, -1) => Ainvl ---
-200 1.00
150 -0.50

--- np.linalg.inv(A) => Ainv2 ---

200 1.00
150 -050
- AFAINV] -
100 000
000 100
- AAINV2 -
100 000
000 100
- B = -

072 078 0.80
0.10 038 0.70
031 063 0.74

--- Binv = ---

328 148 -4.95
291 -585 868
112 440 -4.02

— BBinv = -

100 -000 000
000 100 000
000 -000 100

NV
1.31
-0.38
-0.31
-0.77

e CFY -
4.00
2.00
5.00
1.00




S
500 3.00
600 200
700 400
400 3.00
e | -

1.00 0.00
600 1.00
700 1.06
400 056
S
500 3.00
000 -16.00
000 000
000 000
SV
-0.06

1.54

-0.38

0.46

2.00
400
1.00
5.00

0.00
0.00
1.00
-1.15

2.00
-8.00
-4.50
0.00

1.00
5.00
3.00
2.00

0.00
0.00
0.00
1.00

1.00

-1.00
-2.94
-4.81
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[5-1 =28 A3 Zq}

A= 1[4 0 2-1 0]
[1 3-3-1 4]

[2 01T 3 Q

[2 1-3-1 5]
[1T-5 1 0 5]
det(A) = -997.0

[5-2 T2 M3d Zq}]

A= 1[4 0 2-1 0]
[1 3-3-1 4]
[2 0 1 3 O]

2 1-3-1 5]

[1-5 1 0 5]

A inverse = [[-0.07321966 0.2106319 -0.03610832 -0.24573721 0.0772317 ]
[ 0.16950853 0.26579739 0.09729188 -0.14343029 -0.06920762]

[ 032397192 0.30090271 0.09127382 -0.35105316 0.11033099]
[-0.05917753 -0.24072217 0.32698094 0.28084253 -0.08826479]

[ 011935807 0.16349047 0.08625878 -0.02407222 0.09327984]]

[5-3 T2 M3l Zq}]

A=[2-151]

[3 2 2-6]

[1 3 3-1]

[5-2-3 3]

B= [[-3]

[-32]

[-47]

[ 4911

X= 1 2-12 -4 1]
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[6-1 =234 A3 Zq}
Zstst $lo| 37| ;. 212.56671821060448
7E=i'6l;’+'é;|- 'c‘;lg| HISE

32 1 46.395392948206855

[6-2 T2 M¥ Zu})

o 20

A2} BO| AFQIZE : [[7.52871961]]

Al B 9I20| FAY -
[[ 0.09090909]
[-0.09090909]

[ 0.27272727]]

£ .

9.000000000000002

[6-4 Z2O% MY Zi})

=20

2| 3.2071349029490928
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[7-1 Z2J3 4% ZnH
original
0
scaled by 1.5 and 0.8
50 - 0
50 -
100 4
100 -
150 0 100 200 300
T T T T
0 50 100 150 200
Rotation by 45= counterclockwise Reflection about the x-axis
0 0
50 4
50 -
100
150 100
200 |
150
250 |
T T T T T T
0 100 200 0 50 100 150 200
translate by(40, 20)
shearing in the x-axis with +y/2 ©
0
50 -
50 -
100 -
100 4
150 |
150 1
T T 200
0 100 200 : :
0 100 200




— A —_

1.00 0.00
000 1.00
000 0.00
000 0.00
rank(A) = 4
—— B —_

000 0.00
0.00 0.0
0.00 0.0
rank(B) = 0
—_ C —

200 5.00
400 7.00
6.00 9.00
000 -9.00
rank(C) = 3
—_ C/\T —
200 400
500 7.00
-3.00 -4.00
-400 -3.00
800 9.0

rank(CAT) = 3

0.00
0.00
1.00
0.00

0.00
0.00
0.00

-3.00
-4.00
-5.00
6.00

6.00
9.00
-5.00
2.00
4.00

0.00
0.00
0.00
1.00

-4.00
-3.00
2.00
5.00

0.00
-9.00
6.00
5.00
-6.00

8.00
9.00
4.00
-6.00




Chapter 08 1-ZFyt 31 GHIE]

[8-1 =234 A3 Zq})

A gt = [3.-7]
A°| TQHIE = [[ 09486833 -0.31622777]
[ 031622777 0.9486833 ||

BO| R4t = [6.7. 3]
Bo| IRHIE = [[ 0 0.57735027 0.36650833]
[ 0. 0.57735027 -0.36650833]

[ 1. 0.57735027 0.85518611]]




[8-2 Z=2I% A3 Zu})

Iris data set : 150 records with 5 attributes

First 5 records in iris data

sepal length sepal width petal length petal width target
0 5.1 35 14 0.2 Iris-setosa
1 49 30 14 0.2 lIris-setosa
2 47 32 13 0.2 lIris-setosa
3 46 3.1 1.5 0.2 Iris-setosa
4 50 36 14 0.2 Iris-setosa

First principal axis: [ 0.52237162 -0.26335492 0.58125401 0.56561105]
Second principal axis: [0.37231836 0.92555649 0.02109478 0.06541577]

First 5 Transformed records

principal component 1 principal component 2 target
0 -2.264542 0.505704 Iris-setosa
1 -2.086426 -0.655405 Iris-setosa
2 -2.367950 -0.318477 Iris-setosa
3 -2.304197 -0.575368 Iris-setosa
4 -2.388777 0.674767 lIris-setosa

PCA with 2 components
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principal companent 1




Chapter 09 Xl

083 -0.55
055 083

- HIE
100  1.00 0.00
100  3.00 1.00

200 -1.00 1.00

— F@I|H
041 021  -089
041 08 038
082 052 025

1.00 1.00 1.00
200 200 0.00
300 000 0.00
000 000 1.00

027 036 0.60
053 072 -0.30
080 -0.60 0.00
000 000 0.75

1.00 1.00 1.00
200 200 0.00
300 000 0.00
0.00 000 1.00

—Q -
-027 -0.36 0.60
-0.53 -0.72 -0.30
-080 0.60 0.00
-0.00 -0.00 0.75

- R ---
-3.74 -134  -027
000 -1.79 -0.36
000 000 1.34




— QR -

1.00  1.00 1.00
200 200 0.00
300 -0.00 0.00
000 0.00 1.00

=0 Ol -1
-—- Ax = b2| A -
1.00 1.00
200 1.00
300 1.00
400 1.00
— Ax = b2l b ---
350
4.30
7.20
8.00
- Ax = bQ| l(x) -
1.64
1.65

QR E3[= 0|23} sHZHIKAIO| A|H A

— &x =d9 C ---

1.00  3.00 5.00
1.00  1.00 0.00
1.00  1.00 2.00
1.00  3.00 3.00

— x =d9 d ---
3.00
5.00
7.00
-3.00

—- Cx = d9| Bl(x) ---
10.00
-6.00
2.00

[9-3 =z34 A3 Zq})

O|4F F2|of =iEh ZDt: [ 4.+0.0000000e+00j -1.+1.0000000e+00j 2.+1.2246468e-16]
-1.-1.0000000e+00j]
S o4t F2|of B2t ZADE [ 1.00000000e+00-1.91428435¢-16j
-1.11022302e-16-1.02440519-16j

2.00000000e+00+7.73141507e-18j  1.00000000e+00+1.63672859%-16j]
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Z:

3.00
2.00

1.00
2.00

o U=
- IRy Y

0.39+0.00]
0.92+0.00j
-0.06+0.00j

—= SHLFSAL1) -
1.00-0.00j
1.00+0.00)
2.00+0.00j

400 000
000  1.00

- DQHE WS
071 -045

071 089

—- SHLFSALT} -

300 1.00

200 200

- W p -

100 100 000

100 300  1.00

200 -100  1.00

- DRI B L —

3.36+0.00j 0.00+0.00j
0.00+0.00] 0.82+0.90)
0.00+0.00j 0.00+0.00j

- DQHE W S

-0.19+0.29
-0.22-0.22)
0.88+0.00j

1.00+0.00j
3.00-0.00j 1.00-0.00j
-1.00-0.00j

0.00+0.00j
0.00+0.00j
0.82-0.90)

-0.19-0.29;
-022+0.22)
0.88-0.00j

-0.00-0.00j

1.00-0.00j




[10-2 =213 A3 ZHq}

C1o] W4 = 3. 3.6]
C2o| WHlE = [84 7.6]

C10f Cit 85 Lo A= lH = [[4 -2 ]

[-2. 13.2]]

C20j| CHet &5 Lo M 3 = [[ 92 -0.2]

[-0.2 13.2]]

C1, C20j| CHSt 257 LHo| Atz SH=Hol o = [[132 -22]
[-2.2 264]]

257 7tof At W™ = [[29.16 21.6 ]

216 16. 1]
SWA-11*Sb2| 1REL = [3.13137004+0j 0. +0j]

LDA HAIGHIE] = [0.91955932 0.39295122]

10 ®




Chapter 11 E9l7F 23]

(111 Z2I3 4% Z1}

EQl7k 24l

--- G0 ---

100 200 300 400 500 600 700 800 900 10.00
1100 1200 1300 1400 1500 1600 1700 1800 1900  20.00
2100 2200 2300 2400 2500 2600 2700 2800 2900  30.00
-— U ---

019 089 041

051 026  -082

084 -037 041

--- Sigma ---

997 000 000 000 000 000 000 000 000 000
000 726 000 000 000 000 000 000 000 000
000 000 000 000 000 000 000 000 000 000
-—- VAT ---

024 -026 -027 029 030 032 -034 -035 -037 -038
054 -043 -032 021 -010 001 012 023 034 044
072 02 03 023 012 028 035 006 000  -0.20
003 -018 -038 089 008 -012 003 007 -005 -001
-008 -006 -031 -009 09 012  -001 -010 -010  -007
007 008 -047 -010 -008 084 004 014 014  -009
034 017 006 002 -006 -008 086 016 019  -023
002 033 033 -006 -007 -017 -003 080 023 022
-003 045 031 -004 -007 -017 -005 -023 073 027
013 057 -016 -002 -006 -016 -011 -026 032 065
--- 7%t HlO[E ---

100 200 300 400 500 600 700 800 900 10.00
1100 1200 1300 1400 1500 1600 1700 1800 1900  20.00
2100 2200 2300 2400 2500 2600 2700 2800 2900  30.00




[11-2 221

Y 48 2

original

rank 1

upto rank 5

s

[11-3 221




